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Sample Paper – 2010
Class – X
Subject – Mathematics

   General Instructions: 
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SECTION – A

(1 Mark each)

1. If x and y are two irrational numbers then write whether x + y is always irrational or not, give reason in support of your answer.

2. If the linear equations x – y = 1 and x + ky = 5 has a unique solution x = 2, y = 1,find the value of  k.
3. The largest sphere is carved out of a cube of side 7cm.Find the volume of the sphere.(use 
[image: image12.emf])
4. Find  the  value  of  P, if  cos( 81( + θ )  =   sin( 
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 - θ ).
5. Two tangents PQ and PR are drawn from an external point P to a circle with centre O. If (QOR = 1200, then what is the value of (OPQ?
6. If the mean of the following data is 10 find the value of k.

	Marks
	5
	10
	15
	20
	25

	Frequency
	20
	9
	6
	k
	2


7. A day is selected at random from the days of week. what is the probability that it is Thursday?  

8. The perimeter of two similar triangles ABC and LMN are 60 cm and 48 cm respectively. 

            If LM = 8 cm, then what is the length of AB?

9.    Find the middle term of A.P : 1,8,15,...,505

10. If ( and ( are the zeroes of the polynomial f(x)=x2 –5x+k such that (-(=1,find the value of k.

SECTION – B

(2 Marks each)

11. If A+B=90(, show that 1+
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12. Solve for u and v: 

            5u+6v=11uv; 10u+9v=19uv

OR

    Solve for x and y:

    41x + 53y = 135; 53x +41y =147

13. If the vertices of a triangle are (1, k), (4, -3), (-9, 7) and its area is 15 sq units, find the value(s) of k.

14. Two tangents PA and PB are drawn to the circle with center O, such that (APB=120o.

            Prove that OP=2AP.

15. Find the probability that the month February may have 5 Wednesdays in

(i) a leap year (ii) a non leap year

SECTION – C

(3 Marks each)

16. Find HCF of 48 and 18 by Euclid division algorithm and express it in the form HCF=48x +18y.Is x and y are unique?

17. Prove that  
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18. In a 
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OR

      In a quadrilateral ABCD, given that 
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,Prove that AC2+BD2=AD2+BC2
19. Construct an isosceles triangle whose base is 7cm and altitude 4cm and then construct another similar   triangle whose sides are
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times the corresponding sides of the isosceles triangle.
20. [image: image10.png](ABC is a right-angled triangle right- angled at A Semicircles is drawn on the sides of (ABC. Prove that the area of the shaded portion is equal to the area of (ABC.
21. The two opposite vertices of a square are (-1, 2) and (3, 2). Find the coordinates of the other two vertices.

22. Show that the line segment joining the points (-5, 8) and (10, -4) is trisected by the coordinate axes.

OR

The base BC of an equilateral triangle ABC lies on the y-axis. The coordinates of C are (0,-3). If the    origin is the midpoint of BC find the coordinates of points A and B.

23. Find the sum of all natural numbers between 1 and 100 which divisible by 3 and 5 both.

OR

           The fourth term of an AP is 0. Prove that its 25th term is triple its 11th term.

24. If the roots of the equation (a-b)x2 + (b-c) x+ (c - a)= 0 are equal. Prove that 2a=b+c.
25. Find all the zeroes of 2x4 –9x3+5x2 +3x –1 , If two of its zero are 2
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SECTION – D

(6 Marks each)

26. A conical vessel of radius 6cm and height 8cm is completely filled with water. A sphere is lowered into the water and its size is such that when it touches the sides, it is just immersed as shown in the figure. What fraction of water flows out?

[image: image11.emf]
OR

If the areas of the circular bases of a frustum of a cone are 4cm2 and 9cm2 respectively and the height of the frustum is 12cm. What is the Volume and Slant height of the frustum.(use 
[image: image9.wmf])
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27. The angle of elevation of an aeroplane as observed from a point 10m above the ground is found to be 30( and the angle of depression of its reflection in lake is found to be 60(. Determine the height of the aeroplane from the ground.

28. Prove  that  in  a  triangle, if  square of one side is equal to the sum of the squares of the  other   two  sides, then  the  angle  opposite  to  the  first  side  is  a  right  angle. Using the above do the following:

      In quadrilateral ABCD, (B = 900. If AD2 = AB2 + BC2 + CD2, then prove that (ACD = 900.                                                        


29. A fox and an eagle lived at the top of a cliff of height 6m, whose base was at a distance of y metres from a point A on the ground. The fox descends the cliff and went straight to the point A. The eagle flew vertically up to a height x metres and then flew in a straight line to a point A, the distance traveled by each being the same. Find the value of x if y is three times the x.

30. The mean of the following distribution is 18 and the sum of all frequencies is 64.  Compute the missing frequencies f1 and f2.

	Class
	11-13
	13-15
	15-17
	17-19
	19-21
	21-23
	23-25
	Total

	Frequency
	7
	f1
	9
	13
	F2
	5
	4
	64


OR

             Draw a less than type ogive for the following data and estimate the median from it

	Class
	10-20
	20-30
	30-40
	40-50
	50-60
	60-70
	70-80
	80-90
	90-100

	Frequency 
	5
	14
	19
	27
	43
	29
	16
	12
	5


Paper Submitted by: PRASHANT KUMAR

Email : prash11677@gmail.com

Ph No. : 0096892806084
All questions are compulsory.


This question paper consists of 30 questions divided into four Sections A, B, C and D. Section-A consist of 10 questions of 01 marks each, Section -B consists of 5 questions of 02 marks each,  Section - C consist of 10 questions 03 marks each and  Section – D  consist of 5  questions 06 marks each.


There is no overall choice. However, internal choice has been provided in one question of Section- B, three questions of Section-C and two questions of Section-D. You have to attempt only one of the alternatives in all such questions.


All questions in section – A are to be answered in one word, one sentence or as per the exact requirement of the question.


In question of construction, drawings should be neat and exactly as per the given measurements.


Use of calculator is not permitted.
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